CES 510 Intelligent System Design                                                   Fall 2008
Home Work # 1, Due: Sept 10, 2008

regular expressions and finite automata
1) An operand is a literal or a variable. A literal is any positive integer that starts with a non-zero digit. But number 0 is an operand (but not a string of more than one zero). A variable is a letter (A through Z) or a variable followed by a single digit (e.g. A0, Z3 etc.) A binary operator is one of the symbols +,  – , * or /. An operator can also be **. Unary operators are not allowed. Design a finite automaton that accepts all the parenthesized arithmetic expressions of depth at most 2 in which the operators and operands are defined as above.

Examples:  ((a2 + b0 – 13)* a – z9)* 112 + a4 is a valid expression.

((a1 + 12 – (a + b2))* (a2 – 12)) is not valid because of depth
((a + b + / c d) * (a1 – 10)) is not valid because of misplaced operator / etc.

2) Write a regular expression for the set of English words that start with a vowel, and have at least two B’s and at least one D. (You can use short-hand notation such as  to denote (A | B | … | Z) etc.)
